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INSTRUCTIONS -

Answer any three'(03) Questions. All questions carry equal marks.
Non programmable calculators are allowed.

1. (a) Using Demand and Supply analysis explain the changes that take place in the market,
under following given conditions.(Use illustrations to explain your answer)
() - An advertising campaign has been carried out to educate people on harmful
impact on Smoking, market for cigarettes.
(il) A medical report has been released hlghhghtmg the benefits of drinking
liquid milk than powered milk, market for liquid milk.
(i) A steps have been taken to cultlvate uncultivated paddy fields, market for

rice.

(iv) Price of electricity has gone up by a big margin, market for C.F.L bulbs.
(v) Price of ingredients needed to make cakes has gone up, market for cakes.
(b) Demand and Supply functions of good “X” is given as; :

Qu = 80-4p
Qs =-20+6p

(Price in rupees and quantlty in 1000 units) .
() Find equilibrium price and quantity

(ii) Suppose government introduces a maximum legal price at Rs. 8/~ , what will
be the economic consequence of this?

(iii) Suppose number of suppliers increases and supply changes by 5 units. Find
the new equilibrium position.

(iv) If there are 100000 identical consumers and 5000 identical supphers in the

- . market, write the market demand and supply functions.
(Consider the initial demand and supply functions for every step)

2, (a) Consider the followmgr given details of good X and Y
» Price Quantity Demanded
_Good X Good Y
Rs. 48/- 12,000 8,000
Rs. 60/- 11,400 5,600

(i) Find the price elasticity of goods X and Y.
(1)  Comment on the value of elasticity.
(i)  If the revenue from goods X and Y i is to be increased by manipulating
the price of X and Y, how can this be done?
(b) “Concept of Elasticity is very useful in business decision making” Discuss with

examples.



)

(a)

(b)

(c)

Explain how the Consumer Equilibrium is explained under, -
(i) Cardinal Utility Analysis
(1) Ordinal Utility Analysis
Marginal Utility of goods X and Y given as,
Quantity 1 2 3 4 5 6. {7 |8
MUx 32 28 24 20 16 12 08 04
MUy 45 42 39 36 33 30 27 24
) "Suppose price of good X is Rs. 2/- and good Y is Rs.3/-,
If consumer income is. Rs. 26/-, find the quantities that maximize
consumer satisfaction.
(i) Suppose price of good X increases to Rs 4/~ and income increases to
Rs. 28/-, While price of Y remains the same. Find the new quantities
_ that maximize consumer satisfaction. ' :
1 Explain why indifference curves can not intersect each other.
(i1} What is meant by Price Consumption Curve?
(1ii)

Using illustrations explain how the Price Consumption Curve can be

used to derive the demand curve of a good. - -

(a) Usin.g illustrations explain hbw thé total product change, when increasing quantities
of Variable Factor (Eg. Labour) is added to the Fixed Factor (Eg. Capital)
(b) Fill in the following table.

Output | TFC | TVC T.C AFC | AVC | ATC M.C
Q

0 200 0

1 40

2 72

3 96

3 124

5 180

6 240

7 315

TFC — Total Fixed Cost .

AFC- Average Fixed Cost TVC — Total Variable Cost
ATC- Average Total Cost

AVC- Average Variable Cost TC - Total Cost - -
MC - Marginal Cost. R

(c)

Explain the difference between the .following, with éxam;iles '
Fixed Cost and Variable Cost
Explicit Cost and Implicit Cost

(@
(ii)
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